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ECONOMICS — MINOR
Paper : MN-1
(Microeconomics - I)

Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]

The figures in the margin indicate full marks.
Group - A

Answer any ten questions : 2x10
(a) What are the basic economic problems of an economy?

(b) Distinguish between microeconomics and macroeconomics.
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“India should reduce import duties for industrial development.”~ Comment with reasons whether
this statement is positive or normative.

(d) Define opportunity cost.
(e) What do you mean by marginal product of labour?
(f) Define Production Possibility Frontier.
(g) What do you mean by long run?
(h) Define cross-price elasticity of demand.
(i) Mention two reasons for the market failure.
() Define a mixed economy.
(k) What do you mean by a perfectly competitive market?
(1) What is a natural monopoly?
(m) Mention two differences between cardinal and ordinal approach to utility.
(n) Define Marginal Revenue.
(0) Define a production function.
Group - B
2. Answer any five questions :
(a) Define marginal utility. How is it related to total utility? ' 2+3
(b) Define income elasticity of demand. How does this concept help to determine the nature of the
good? ‘ 243
(c) State the Law of Demand. Mention three exceptions to the law of demand. 243
(d) Define indifference curve. What are the} properties of an indifference curve? 243
(e) What is a private good? Distinguish between private good and public good. 243
(f) What is a budget line? What is the slope of a budget line? What happens to the budget line if
money income falls but the prices of the goods remain same? 2+1+2
(g) Distinguish between movement along the demand curve and the shift of the demand curve. 5
(h) Show that the indifference curve is convex to the origin with the help of the concept of marginal
rate of substitution. : 5

Group - C

3. Answer any three questions :

(a)

(b)

How is equilibrium price determined through the interaction of demand and supply curve? Explain
with a diagram. What happens to the equilibrium price if there is an increase in demand? 7+3

Define price elasticity of demand. How can you determine price elasticity of demand at a point
along a straight line demand curve? 2+8
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(c) State the Law of Comparative Advantage. Illustrate the gains from trade derived from the Law
of Comparative Advantage. 2+8

(d) How does a consumer attain equilibrium in an economy with two commodities, where the money
income of the consumer and the prices of the commodities are fixed? 10

(e) Define a supply curve. What factors can influence supply? Draw a perfectly elastic and a
perfectly inelastic supply curve. 2+4+(2+2)



